Attachment B
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TABLE OF LAPLACE TRANSFORMS

£ = 2 () F(s)= [ (0t

a, b and c real ’
1. 1 1 Re{s} >0
2. e Sia, Re{s} > a
3. t", n is a positive integer Sﬂl, Re{s} >0
4. tP,p>—1 Fifill), Re{s} >0
5. sin (at) i Re{s} >0
6. cos (at) T Re{s} >0
7. sinh (at) s Re{s} > |a|
8. cosh (at) =, Re{s} > |a|
5. e sin (bt) (s—a§)2+b27 Re{s} > a
6. e cos (bt) (SEZ;;—?-W’ Re{s} >a
11. t"e, n is a positive integer (s_;‘)!nﬂ, Re{s} > a
12. ue(t) e e (1) Re{s} >0
13. uc(t)f(t —c) e “F(s)
14. et f(t) F(s—c¢)
15. f(et) 1F (%)

t

16. Off(t —71)g(T)dr F(s)G(s)
17. it —c) e s
18. F(t) s"F(s) — "1 £(0) — ... — f(=1)(0)
19. (=t)"f(t) F)(s)




